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MASTER OF ARTS (ECONOMICS)
(MEC)
Term-End Examination

June, 2025

MEC-001 : MICROECONOMIC ANALYSIS

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from both Sections as

per instructions given.

Section—A

Note : Answer any two questions from this
Section. 2x20=40

1. (a) What do you understand by a pure
public good ?

(b) There are only two individuals

(A and B) in an economy. Their
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respective marginal valuation curves
for a public good x, are given by :

MV, =100-2x
and MVp=25-x.

The marginal cost of providing the
public good is given by MC = 100 + 2x.
Find the socially efficient quantity of
the public good.

2. A consumer's preferences over a single good
x, and all other goods y is represented by the
utility function u (x, y) = In (x) + y. If the
price of x is p, that of y is 1 and income is m,

then :

(a) Derive the Marshallian demand curves
for x and y.
(b) Derive the indirect utility function.

(¢) Use the Slutsky equation to decompose
the effect of own-price change in the
demand for x iInto 1ncome and

substitution effects.

A-65/MEC-001



3.

(a)

(b)

(a)

(b)
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Consider the Edgeworth box that
describes a two-person, two-commodity
exchange scenario. Explain how both
persons enter into trade starting from
the initial endowment position.

There are two agents (A and B) with

utility functions given as :

UA = g
and UP = PP

for goods x; and x,. The initial
endowments of these goods for the
agents are W, = (1, 1) and Wy = (1, 1).
Compute the market clearing prices.
Describe the role of reaction functions
in Cournot’s model of duopoly.

Two firms producing a homogeneous

product, face the demand and cost

functions given by :
P=100-0.5(x; +x,),

and C, =0.5x5
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Derive the reaction function of the firms
and obtain the Cournot solution for the

market.

Section—B

Note: Answer any five questions from this
Section. 5x12=60
5. Utility function for wealth of a person is
given by u = In (w), where u = utility and w

1s wealth.

This person has the prospect of good income
and bad income (X 4,000 with probability 0.4
and ¥ 1,000 with probability 0.6). How much
premium will this person pay to insure

against income uncertainty ?
6. Write short notes on any fwo of the

following :

(a) Envelope theorem

(b) First Welfare Theorem
(c) Moral Hazard
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If the consumer’s utility function is given
as :

0.5, 0.5\2
u(xy,%9) = (x7° +%5°)

(a) Formulate the expenditure
minimisation problem.
(b) Derive Hicksian demand function for x;

and x,.
(¢) Derive the expenditure function.

Which key features of Williamson's model
help in Dbetter understanding of the
behaviour of a firm ? Give details to support
your answer.

Given the following extensive form game :

(3, 8) 8,3) (5,9

(2,10) (1, 10)
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(a) Find the sub-game perfect Nash
equilibrium.

(b) Write its normal form and solve for

Nash equilibrium.

(c) Compare the solutions of the game
obtained in parts (a) and (b) above and
state which of these offers a better

solution.

10. Suppose 10 people live on a street and that
each of them is willing to pay ¥ 2 extra for

extra dustbin, irrespective of the number of
dustbins provided. If C(X) = A2 is the cost of

providing dustbins, what is the Pareto

efficient number of dustbins to provide ?

11. Differentiate between the following :

(a) First and Third degree price

discrimination
(b) Cournot and Stackelberg competition

(¢) Profit function and Cost function
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12. Consider the production function :
¥ = flxy,%) = afxy ™"
Obtain the input demand functions
x,(p,w;,Wwqe,0)  and  xe(p,w;,wy,a). Also
obtain the supply function y(p,w;,ws,a).
Here y is output, x;,x, are the inputs; p is

output price and w,,w, are the input prices.
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hert freuTra (srefeTre) (TH. $. )
LEICRER ]
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w3 Ht.-001 : =fte anfirer fagersor

gayg : 3 yu2 SfeFaH 37F : 100

T : T GFI G AR 9971 % I [e7eq |

HAT—<h

9T : 39 YT G [l gt 399 F S foafaw) 2x20=40
1. (&) fagrs el Tered & saeRt o STRUT ¥ 2

(W) T AdTewq U had o 959 (A IR B)
T 2 fodr e wered x & fow s dimid
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A-65/MEC-001



2.

[9] MEC-001
g1 Ao uered & WewE & HHia ard
MC = 100 + 2x ¥ Gmifssk gfic 9 T&
AT IS hi HIAT 1 AR hifold |

Teh 3TN ohi Tehel U1 x 4 99 9t ugrelf &

TR €9 y H TS HI I ST T

u (x, y) = In (x) + y g f@mn wn g1 afc x *

AT p, y T HAA 1 3HE IR E m &,

(F) x 3R y & foU 30 ARTGERT W ki 6t
A Fif |

(@) & YA Fel shi i HiTd |

(1) wIeEh! HHIRTO Sl YA T x <kl 3TYAHI
HAd H IREdT & 9 <kl 3™ T gfaeemg
guEl § faarfea s |

(%) T fg-=afm f-ong fafvma =1 weitm &
T ToEd S RO faER Fifeul Snen
HIfST for yrfven duat forrg & gRY L A I
AR fFE TR TRER -3 L § |
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(@) T At A IR B §1 3 START Hed

YR T :
UA = xPx) ™
qaan UP =yl P

Gﬁxlﬁx2ﬁaﬁiﬁlﬁﬁm3ﬁaﬁ
yRfYw duerd wmEe: W, = (1, 1) ae
Wg= (1, 1) off| s9R & ¥ I 1 <20

3T i STl ShIHdl T STehel ShifSu |

4. () Tl % gHIfeR YfaaH § gfafsean wei &t
oJfteRt T U it |
(W) T FHEY %] Hl SR HL drelt a1 Bl o

P=100-0.5(x; +x5),

C; =5x;
iR Cy = 0.5x3
Tl & wfafwar werl S Faaf Hifeg iR
TSR ohT ShAT HHIEE  F7d ST |
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HT —9

T : 39 Y71 Q [l gier g9 & S fafan

5.

5x12=60

Th A & G9g1 & faq SUAfr wed
u=In (w) ¥, &I ¢ 3R w g ST IR FuaT
T M ¥ 3@ oAk % wEE ST
3™ = T 4,000 T FIAAM 0.4 T = o
= % 1,000 ! WA 0.6 T| I ARG 3T i
rfafyad & S0 & fore = =i 3o o1 1 TR
g 2

frfafed 8 9 frel & R oy feufrt fafe -
() aREsd g5

(@) 9oH §H g9

(M) Afiw 55
i ITERT 1 ST B

0.5+2
u(xy,%y) = (x1 +%97)

F L

(%) 3G ToTq =IAqH =9 FHET hl TAT SHIGT |

A-65/MEC-001 P.T.O.



[12] MEC-001

(@) x;, A x, H TeFaEl A wHed A
SIS |

(1) =T TeT Ha hifeT |

8. TWh HH & HOER @l oo ®9 § THzH H
fafermas & fqam =t eA-9 qe fagan
HEE® Bl © ? 0N SW % wHdd H STevgeh

oo s |

o (a3
[

M foga @& Id 39 YR fSa T ¥ :

(3,8) 8,3 (5,95

(2,10) (1, 10)

(%) SR FYUl " HI 1 HIfC
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(@) 39 Ta & 9M= @ey § fafen o) 58 "9

Aqe & foTu g shifer |

(1) 3T 9N (F) AR (W) H Tehferd gHIEmI

T AT HiTeIT SR TARY T DHH-T1 THIEN

TR T |

10. A oifST for forelt Teft ® 10 & wa € ofiK |t

FHIEH wt Qo e § Ay w gfg &

felt 2 T99 &% <9 & TR E1 At C(X) =12

SR WA S AN B, Al 3Tkl T I8 HE&A
1 SATehel ShifTT |
11. fr=fafed § 98 s Sy :

(%) 99 TF AT hife & hima a9

(@) 1 T Rehererd gfaaifian

(1) Y e TR AT el
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12. 39 3 e R fa=R wifeu :

1-
y = fa,009) = a2

5o fU STRE A ®erl xy(p,wy,wy,0) T

Xy (D, W0y, Wy, 0) T AR HIFTC | w1 & smYf

AT y(p,wy,Wey,or) H A R T=T y IR,

X1,X9 SH AA p I HIAG 3R Wy, Wy AR
I T T W@ T

X X X X X
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